481U
60

29%5%45
4211

5K

61

5K

2017
75

75

63

25KR

5K

21%4E

213E4E

13573k

60

(53R)

60

1746 H

1642 BR(E)

13853

1642 8RR

2017

61

201R %

76(4)

61

1212 ()

288D

201RH%

75

28ELR

1 B 5R
2 BYE
3 =i
4 Bl

5 Ril

N

I
i

o
=

6 BYE
7 BYE
8 /AR BRK
9 L R
10 BYE
11 BYE
12 1

IRIE27

o

14 BYE
15 BYE
16 e
17 ffil )
18 BYE

19 BYE

&
EA

20 Bk
21 EAF
22 BYE
23 BYE
24 W)
25 K 18
26 BYE

27 BYE

=/
&2

28 LR
29 fei
30 BYE
31 BYE
32 BBk WAL
v—F O%k

BRI NVA

TP =T AT T

KET AT A7 I57T

T —RETTA

MKEAT AT 47757

TR —T = AT AT I—

TR —T ZAT AT I—

IWETF =257

TR —T ZAT AT I—

KHETAVT 47757

KETAVT 47757

TR —T AT T I—

TR =T AT T I—

KET AL T4 I 05T

KET AT 75T

TR —T AT T I—

IWETF =257

KET AL T4 I 05T
B OE WA O@WI R, JRE &5

F2 @AY I—Ca1= T T AUISEFERS
ERi2947H22B~7A238
LEHHART=X3—+

1R

O~@, Phif K, HEE =M, Rl B

2R 3R QF SF F
1
81
3
83
1
80
5
WO
1
82
9
80
9
83
13
83
1
80
20
80
24
83
24
80
24
85
28
81
32
81
9.5
32
80 - |9.5H
3R N
32



53
5 .
—_— 5}
B A 3.FH
HER
SHRiE 14T j
60
14T 7%
14Tk
63
7&K
14T 7% 101E R
98 63
(5)
101k ik
9/hith
5 &
11158
64
RiE(R) 3k SR _
97 62 11& 8k
SR
SR
62
13 R
12 AFER
81 62
AR
12{R % (%)

EAEYI—C1= 7T RAUISEFHERS

LI TR
1 xR EY T770F—F=AT T I—

2 BYE
4

e

3 JEH
4 ik
5 JHF
6 BYE

TIEK B
8 Mz FHEH
9 /Nt IR
10 Yok Skifi
11 Ve B
12 i R
13 ek PEAE
14 THE #R

15 BYE

16 & FHIHAE

WY 2=T T =AITT
BT AT A7 7T T

KHET AT 47 75T

WY 2=T 7 =257
KHET AV T 47757
WY 2=T T =A757
W ETF=2A0F7

T X—T = AT AT I—
KHET AT 407057

KHT AL T 477577

By 2=77 =227

T X —T AT T I—

FR29%TA22B~7H23A
EHBHAET=R23—+

2R 3R SF F

80
4
80
1
82
5
85
8
83
1
86
10
84
12
83
12
81
16
83
14
81
16
83

=k OfExk £5 @R FE @@V EE, JHE KR



